
finn tanh = !
X→ to

Prove it ?



Definition Let LeR, DEIR, f:D-IRItoif

the following two conditions are satified
:

E) ZX . c- IR such
that Exo,to) ED

HI ) V-E >o FXk)>
Xo such that

x -XCE) ⇒ I fix)-LKe

In our example 1 they - tf s E



Example ftp.thlxl-q/Recallthcxi=EeEI
Thus doin th -- IR . 501 m&ftwf£VxeR
So

,
we can take X.= 0

choice

I) Iis harder . Let e >o be arbitrary .
To find XCE) we need

to saehnplifyfmx> o
- x e''e'- et-EI

11hm -H -- IeEx -Ite f

=i¥iit¥¥÷¥¥¥..e÷



True for -VxHRThus Ithcxi - 1) = ÷⇒ Butweueed

only +30 .

×⇒ee¥ieI
2⇒ u.EE#EE7fg'add

¥ em Haughty

Now solve ease
.#solve

sisourombp.at.



e Solve face ⇐ ¥ > tz⇒e">Z& fork respect Ew§ea>zt¥2TeuEei'⇒¥¥euE§ so so
#
Summarize G1 lthcx, -1151¥

HEIR

↳ azzez.ee#xs1zlnEe)
set Xcg=max{fluke)i0}

all green



Now prove : × > maxfzlnf-et.de/thcxHKE
assume Iprove

§Assyymaxfzeutzyof-oxizlukdzzkzz.ee :S
green green green off

By G1 Ithcxi -1K¥.EEsiintgtheofamsthogreenboxesegiu.ge!
order
,

( then-11



ax'tbXtc = O ± * IEEei¥¥i¥÷i÷iie÷÷÷÷
x =

2 a→all
or

- b + f¥E
X = green


